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Resources booklet.
Feel free (in fact you should) write notes all over this
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PLAYING SCAILES

. Measure these creatures carefully with a ruler and work out how lorge each
would be in real life. Use the scales shown. Instead of ‘stands for’ we can put
two dots ¢ like these.

Answers
lem : 10cm Sausage
2cm : 50 cm Crocodile
. .:‘.7;_1.::_— 2Cﬂ"l . 250“ Snake

& Use the chart below to work out the shortest joumey between places. Use the

dots as start and finish points.
ﬁi Library
L] [ ]
- —
L]
School
® Pork
Which is farthest from
the park, the museum
= A or the library?
S | 73 ul
Musaum ( o . A .
Scole Tom : 20m ;5=i!/’i’i’ all 1'.,:
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GCSE Geography Specimen question paper Paper 1

Question 1  The challenge of natural hazards

Study Figure 1, a graph showing changes in the amount of carbon dioxide (CO2) in
the atmosphere.

Figure 1

360
Amount of

CO; (parts per
million (ppm)) 54
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Answer all questions in this section.

Question 1 Urban issues and challenges

Study Figure 1, a map showing the percentage of the population living in urban
settiements in different parts of the world.

How to answer your geography questions .

Use this guide to practice how to answer all the different types of questions in the geography exam (Paper 1and

2 Worked example:

1 Mark question

These usually require you t

*  Add something to a diagram
* Writea 1 word answer
o shadeabox

Key
Percentage of
populationin  +
urban settlements

I 0 and over
Il s0-79
[ 40-59
[ 20-39
[ Lessthan 20

Be very careful with these questions as they like to trick you. READ THE QUESTIUON VERY CAREFULLY.

2 Mark Question
These wil require you to:

o Tick2 boxes
* Write 2 reasons why something happens
o Fillinthe gaps

Be very careful with these questions as they like to trick you. READ THE QUESTION VERY CAREFULLY.

0]1].[1] Describe two differences in the percentage of population living in urban settlements in
Africa and South America.

‘some will ask you to describe something.

When describing a graph, follow this formula: [2 marks]

Overall pattern

Difference 1:

Worked example:

Study Figuro 1,2 raph showing changes i the amountof carbon dioxide (CO) in
the smosphers

Difference 2:

Fgwe1 Describe the change in the amount of
Rt carbon dioxide in the atmosphere
shown in figure 1 (2 marks)
10
Overall the graph shows an increase in
- the amount of carbon dioxide (CO2).
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Study Figure 12, a map showing population density in the UK.
Figure 12
@ Key
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101-200
Flave 1t B 51-100
B 5- 50
H ‘¥‘ Lessthan 5
I
Using Figures 11 and 12, suggest why there might be a need for water transfer from
one part of the UK to another.
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e very careful with these questions as they ke to trick you. KEAD THE QUESTIUON VERY CAREFULLY. e America (2 marks)
y ‘Africa has a much larger difference of Study Figure 11, a map showing average annual rainfall in the UK.
2 Mark Question people lving in urban settlements than
South America. y
These will require you to: oy Figure 11
o Tick2 boxes S samants
« Write 2 reasons why something happens W 0 arcour .
+ Fillinthe gaps meon
« Describe a graph -2
« Describe distribution on a map EI T
Be very careful with these questions as they like to trick you. READ THE QUESTION VERY CAREFULLY. -
‘some will ask you to describe something. :?Bln;ﬁ\l amount
mm)
‘When describing a graph, follow this formula 1691 4577
I 1291 - 1690
« Overall pattern 11061 - 1290
[ 8711060
: 3 Mark Question I 741- 870
. These will require you to: | |Gi= %0
Worked example: ) 3= D
« Fillin the gaps in a paragraph
Sty Fgure 1, gaph showing changes i th amaunt of cabon doide (€0 + Labelthings on a diagram
e amosphers
« Describe a graph (in detai) (see worked example for 2 mark)
Figure 1 Describe the change in the amount of « Describe distributions on a map with suggestions and reasoning
Rt carbon dioxide in the atmosphere
shown infigure 1 (2 marks) Be very careful with these questions as they like to trick you. READ THE QUESTION VERY CAREFULLY.
a0
Overall the graph shows an increase in
. the amount of carbon dioxide (C02).
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Clipboard 5 Font 5 Paragraph 5 5 Edting Study Figure 15, a photograph showing the effects of river flooding in Somerset
Describe the change in the amount of - in 2014
Rt carbon dioxide in the atmosphere . il (see worked example for 2 mark)
shown infigure 1 (2 marks) « Describe distributions on a map with suggestions and reasoning Figure 15
a0
Overall the graph shows an increase in Be very careful with these questions as they like to trick you. READ THE QUESTION VERY CAREFULLY.
0 the amount of carbon dioxide (C02). 3 Mark questions are quite rare but you will almost definitely find at least 1 or 2 in the paper. They require you to
s pans por describe in detail but also on occasion to provide a basic explanation or a suggestion usually based on a source
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Sty Figurs 11,8 map showing sversg annus st h UK

Figure 11

Study Figure 12,2 map showing popiation density in the UK.
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figure in the paper. See the worked example below for details.

‘When describing continue with the formula of:

« Overall Pattern

When no number of points to expl

o Point

© Point2

Worked example:

Explain the likely economic effects of river flooding on the area shown in Figure 15.
4 marks]
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